RAGONE PLOT

The Ragone plot compares the performance of a range
of electrochemical and electromechanical devices.
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#  Machine Width (s) Density (Whr/kg)  Density (W/kg) # Machine  width (s) Density (Whr/kg) Density (W/kg)
1 FESS 1800 18.30 25.00 7 Ignitex 10 5.83 15625.00
2 ALPS 120 11.82 272.73 8 Iron Core 0.01 1.05 80000.00
3 HVHP 0.01 4.33 300.00 9 AIR 0.35 3.00 80000.00
4  Transit Bus 60 8.89 1333.33 10 Small Cal 0.01 2.89 768518.52
5 EMALS 3 1.43 2608.70 11 Cannon Cal 0.01 5.50 1200000.00
6 CHPS 0.01 7.00 10000.00 12 Sub Scale 0.01 2.67 1250000.00




